PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
4th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Who wrote “Shunyasiddhanta” / ’Q]ﬂ'ﬁ’l?x'i_ff" fraq forar u?
® Aryabhatta / SITCh-IE'
® Varahamihira / W&I’[ﬂ?
e Kautilya / Pifeed
® Kalidasa / m
Correct Answer :-Aryabhatta / 3TIHE
2)
Question Stimulus :-

Vamana Temple is located in ./ T HfeR _'ef 5G] %
® Mandu / 'FI'ITR"

® Khajuraho / W

® Padavali / UgTaait

® Suhania / '\ﬂ?FnTIT
Correct Answer :-Khajuraho / @SRTg!
3)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ:, trirﬁ al el & g ot
TR A P Gad g| 7 fawet & J dtur ug g~ R R ug & I1y 33} uoR &1 J9Y 3|

EGIK: FILO :: FHIL:?

® JGMP



® JGPM
* GJMP
* GJPM
Correct Answer :-GJMP
4)

Question Stimulus :-

Which one of the following states does not have a railway station? / frrafafed woal 3 9 foead Yo ©xM T8l
8

Sikkim / Rifeeww
Himachal Pradesh / '%W m
Jammu & Kashmir / W—W

Nagaland / TS

Correct Answer :-Sikkim / Rifdea

5)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁl‘q
St foT T HYAY vd frepul & I § 9 2

Statements: / ®Y-:

Some dresses are not skirts. / $9 FUS e 8l g
Some drinks are not dresses. / $9 9T HUS 81 2
Conclusions: / fassd:

I. Some drinks are skirts / I. $9 g whe g

II. Some dresses are drinks / II. $© ®Us U4 &
® Only conclusion | follows / Fad ey I eaar %
® Only conclusion Il foIIows/aﬁﬁ forsed 1| fpaar %
® Both conclusion | and Il foIIows/T.‘ﬁT-ﬁ forepd 1 Gﬁ? II foad %
® None of the conclusion | or Il foIIows/ﬁW“f ITTIIA A ﬁs‘ T'Iﬁ ferean %



Correct Answer :-0Only conclusion Il follows / ad e 1 feear %

6)
Question Stimulus :-

Following are the three positions of a cube. / ﬁl’H v &t i Rfaai %

ERATIL
B4 TADAN UK ERATIL

Dice X Dice Dice Z
Which country name lies at the bottom face of dice X? / CaC k| a'slﬁ & 9T SIgY X & dd bae ) UG %.?
® CHINA
® ITALY
® USA
® UK
Correct Answer :-Uk
7)

Question Stimulus :-

Where is Asia’s largest mosque,’ Taj-ul-Masjid’ situated? / E&maﬁﬂaﬁa@rm ol d-AfeTS ﬁﬂ@ﬁ %?
e Ujjain / I=H
® Gwalior / arferaR
® Bhopal / ware
® Jabalpur / SIGCTYR

Correct Answer :-Bhopal / HIUTd

8)

Question Stimulus :-



If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I
will have acidity. I have acidity so the bread was toasted. / gfe g $ e forar wirar 8

3R T W AU TTAT ST € o A1 o § Y@ I S a1 g9 efafedt g omah | g vhufsd @
gUfoY 58 P SIe T T Tl

° True/ﬂ'&ﬂ

False / TTdd

Maybe / 8 I&dT &
Irrelevant / 3RS

Correct Answer :-Maybe / 8 I&dT &

9)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg e ?\{ﬁﬁ,\_rﬁ TP DI T
AR FEFA T IS :

If you are carrying a suitcase, then you are going to the railway station. /GFTTGHUW

foe € a1 emu¥ed WY ST I8 &1

e If you are not carrying a suitcase, then you are not going to the railway station. /

3R 3ATY Yerd e fore €, at 3y Yera WM =8) o 33 &

e If you are carrying a bag, then you are not going to the railway station. / 37X 3{lU

a1 fore €, Y ey Yo W 1 o1 W) B

e If you are not going to the railway station, then you are not carrying a suitcase. /

3ATR 3TY ¥ eI T8 T 38 &, 1 3 Yeby ! e g
* None of the above / :mﬁaaaﬁéqa

Correct Answer :-If you are not going to the railway station, then you are not

carrying a suitcase. / 3R 3T IAd WX Tl o1 I3 8, a1 3T Jebd el ¢ &

10)
Question Stimulus :-

13t President of India is / WIRd & 139 ITgufer §

® Pratibha Devi Singh Patil/ UfarHT ¢4t g wrfea

* A.P.J. Abdul Kalam/ Q9. S, 3fegdl HaTH

® Pranab Mukherjee/ WUTS TSI



® K.R.Narayanan/ &.3(R. AR
Correct Answer :-Pranab Mukherjee/ WOTS @it
11)

Question Stimulus :-

The capital of Gandhara was / TR @t IS R
® Taxila / d&TRTaT
® Pataliputra / tﬂ?ﬁgﬁ
® Varanasi / IRTURAT
® Vaishali / RG]
Correct Answer :-Taxila / T&RreT
12)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fapey gﬁﬁ,\_rﬁ qTh B ?@
AT HFF S IAE :

If it is cool, then it is winter. / afd 3P g, a1 Tl 21
e If is not cool, then it is not winter. / 3TR 38 8! g, d T I8! gl
e If it is not cool, then it is winter. / 3R $8® 78| §, I Al B
e If it is not winter, then it is not cool. / 3FR Tl 8! g, a1 $8& 78! g
e If it is winter, then it is cool. / 3R A<l §, 91 $8& &

Correct Answer :-If it is not winter, then it is not cool. / 3FR Tdf I8! g, 91 $8& 78! 2|

13)
Question Stimulus :-

Which of the following belongs to the same family as Lungs, Liver and Kidney? / ffgaa P9 9 I ufar 9

Haift § o fop BwsT, a9d iR gaw?
® Heart / §cqd

® Ears / B4



® Nose / AT

° Neck/TI'éT-[

Correct Answer :-Heart / a4

14)
Question Stimulus :-

A and B are planning to meet each other after office. A can leave office between 5:30 to 6:00 while B can leave office
only after 6:00. A takes 1 hour by bus or 30 mins by cab to reach the meeting point whereas B takes 30 min by bus and

15minbycabtoreachthesame./ASﬁ?BW%WWW@&I@G&WW@%IA5:30\’rﬁ?'
6:00 TS & 9 FATAY BIS HPdI & Sd(P B Had 6:00 99 P I1¢ HATAT BIS Hhdl ¢l A Bl Tdd
ggﬁ%;uﬁaﬁﬁ1dam%msoﬁ%%a¢ﬂﬁwﬁ%msﬁsoﬁmzwﬁaﬁnsﬁmz

[

A knows B will be leaving office at 6 but doesn’t know what conveyance will he be using. When should A start and
what conveyance should he choose such that he can start as late as possible and yet is not late for the meeting? / A

SITdT € D1 B 6 99 BraTed ¥ 1 S afer fohd arg= 1 TGN S A IHS! udT 181 21 A Bl fopd
7Y feanT a1y 3R frd arg=1 @, 3t 918 98 ¢ & 81 i A FHiovdl IR e & Wi W &R 917 ugae

e 5:30, Bus / 5:30, §9

e 5:30, Cab / 5:30, &Rl

e 5:45, Cab / 5:45, Gl

® 6:30, Cab / 6:30, a1
Correct Answer :-5:45, Cab / 5:45, ¢ail
15)

Question Stimulus :-

In column I are listed certain groups of individuals while in column II are listed some
of the characteristics against each group of individuals which are common to each

member of that group. / WY I fafRy safeara wygl t Jfua Ha1 8,99 {6 WY 11 & aafeaal &
e $o faRiwarsii &t gfua @war @ & S° I & & P de & fore 9= 31



Column1I | Column II
FHI] ™
LIk PT
1M SUW
GHIKM RY
GHI QRV
FGI PR
HIJ QTW
T1L Qs5UM
GIJ PQS

Which characteristic are common to G and H but is not in M? / Cac k| ﬁ?ﬂ'ﬂlﬂﬁi G3RHHA
979 8, g M ® T2

°Q

e R

S

B
Correct Answer :-Q
16)

Question Stimulus :-

Who was the first member of a Dravidian Party to hold the office of Chief Minister of Tamil Nadu? / §ﬁ3’ urdf &

Ugd W GHd P 3, &) afiradrg ¥ gegHdl a2
® Periyar /ofarR
® CN Annadurai /¥ @9 GI_?I@

® MG Ramchandra Menon / TH Sit g A9

® M Karunanidhi / T ®SUITATY

Correct Answer :-CN Annadurai / I T 3[ATgY

17)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / < & AR 3f&R F9 el 1 §| vdP 3MeR P GeAfed fbar w1 2| 98
fawer g =t e g B w1 & o) T=msit & 0 # 3ier) o1 Il HH a1 3



ACESTH
123456

* 2,6,14,5,3
* 4,3,5,6,1,2
* 6,1,4,5,3,2
* 6,3,2,14,5
Correct Answer :-2,6,1,4,5,3

18)
Question Stimulus :-

In most Windows applications, Undo command is activated by pressing ./ GUIQIdY ICEI] Glﬂqtﬁ"ﬁ 'ef, Mg
(Qdad)3Me g9 | iy g 31

* Ctrl+A

® Ctr+S

® Ctrl+Z

® Ctrl+U
Correct Answer :-Ctr+Z
19)

Question Stimulus :-
Madhya Pradesh government announced a new award in 2015 for those working to stop violence against women.
This award is named after /mewwﬁmﬁmﬁ%ﬁmﬁﬁnﬁmeﬁ%%wﬁwaﬁﬁaﬁm
B Fd €, 2015 W TP ¢ [RIGR 3t Non & F I SH RGRPTATHE

e Nirbhaya / fAfar

® Kalpana Chawla / AT dTddl

® Aruna Shanbaug / 3 UIT RTAINIT

® Devi Ahilya Bai / ¢4l 3ifgearars

Correct Answer :-Aruna Shanbaug / 3% Ul XTI

20)



Question Stimulus :-

What is the day on 25th October 2045? / 25 3(GgaX 2045 &I P AT f& 82
e Monday / AHAR
* Tuesday / HIddR
* Wednesday / §YdRR

® Thursday / 3dRR

Correct Answer :-Thursday / T¥dRR

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬂ'ﬁ'q
it f3T e Sy ud frsnuf F 9 § 9 2

Statements: / ®Y-:

Some aquas are octopus. / $S UM ey B

All octopuses are dangerous. / Tt sifec iUy WaRATS %'I
Conclusions: / fsw:

I. Some aquas are dangerous. / I. 99 U WaRATS %'I
II1. All octopuses are aquas. / II. 9 3ifeaiuy Ul &1

® Only conclusion | follows / Fad ey 1 waar %

® Only conclusion Il foIIows/W frsed 1 T %

® Both conclusion | and I foIIows/?ﬁTﬁ foreed 1 Sﬁ? II foad %

® None of the conclusion | or Il foIIows/ﬁIW‘Sf ITTIIH A aﬁ's‘ T'I'Eapf IGEASGI %
Correct Answer :-0Only conclusion I follows / Had fspd 1 fAPpadar %
22)

Question Stimulus :-

1. Six flats on a floor in two rows facing north and south are allotted to P,Q,R,S, T and U. /

1. T% Ao TR SR 3R i30T 31 3R g1 vfwai & & WEPQ,RST@TU@&WI%H%QW&%

2. Q gets a north facing flat and is not nextto S. / 2. Q aﬁwaﬁaﬁ?muﬁfﬁmeﬁ?w S&
TTa § 8 B



3. S and U get diagonally opposite flats. / 3. S 3R U 9 fawfa :Wﬁf e

4. R next to U gets a south facing flat and T gets north facing flat. / 4. R S U & 19 A %,
3 <faror fa=m #Y ik &1 e e iR T &1 SW @1 3R arar wde e

Which of the following combinations get south facing flat? / 79 # & f&g Jaieq &1 gféor sik
®1 wae e

e QTS

e UPT

e URP

e Data inadequate / g sTer
Correct Answer :-URP

23)

Question Stimulus :-

The Narmada and Tapti rivers flow westward and join the ____./ T'ITTET 3R araht T'I'ﬁ'qT uf3re &1 Gh?aﬂ?ﬁ % MR
__ Hznfia gt gl

® Bay of Bengal /Wﬁw
® |ndian Ocean/ %E'HETW

® Arabian Sea / 3[R IR

® None of the above/ﬁﬁﬁaﬁg it 15t

Correct Answer :-Arabian Sea / 3IlRd II"Y

24)
Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle
were in the group. There were two females. B, the mother of A got more points than
her husband. D got more points in the game than E but less than F. Niece of E got the
lowest points. Father of A got more points than F but still could not win the game. /9%
fad A,B,C,D,E 3R F UH AT &1 Td Wa 78 1 TUg & A & fUar, urar iR =rar A1 3 ufgang & B,
A T HTGT BT U+ Ufd | & 3@ AfU® Ured g1 @ d D & E F 3P W F F HH 3P UIed Ul E &
Yiolt B I HH 3 U gUI A & a1 & F 9 31fid 3@ ur g W fibr ot ag @a 16l it urd |

Who got the lowest points? / f&a 9998 $9 3i® UTw gu?

* A



Correct Answer :-A

25)

Question Stimulus :-

INS Chakra and INS Arihant are / 3TSUARY TP 3T AMSTCH 3f¥gd T &2
® Submarines / W@%’Cﬁ

® Aircraft Carriers /mmm
® Patrol Vessels / TTal NEHE)

® Trainer Aircrafts / aT'R' qrgar_d
Correct Answer :-Submarines / TGSl

26)
Question Stimulus :-

Which one of these is not a classification of river systems of India? / E:Iﬁ ¥ SIF T YIRG $I 93} vonferal &1
o 51 32

® Rivers of inland drainage basin / Grcﬁiﬂ“q e freTit af= @t T'I'I%'!JT
® Glacial river / %'FIT'I?.' 7'|'(4Pf
® Coastal river / dCIT TGl
® Deccan river / ST Tt
Correct Answer :-
27)

Question Stimulus :-

The positions of how many digits in the number 321465987 will remain same when the
digits are arranged in ascending order? / ST 321465987 H fHd 3i®| &1 RIF T8l I3
3R § 3Pl P ARG HH afeyd foear 912

e Three / diF



® One /T
° Two/ff
° None/?ﬁiqﬁ

Correct Answer :-Three / di9

28)
Question Stimulus :-

won bronze medals in the 200 and 1600 metres races at the Special Olympics at Athens in 2011. / 2011 |

T faiy ofeifie H 200 3R 1600 MR s F 3 wiwd ugo o
® Sita Sahu / HIdT ATE
® Varsha Varman / 99T q¥+
® Harshita Tomar / gi¥aT @R
® Manisha Keer / HHINT B
Correct Answer :-Sita Sahu / i1 91§
29)

Question Stimulus :-

The only team sport in which India has ever won an Olympic Gold Medal is / WWZ&H DI @a%ﬁmﬁ YRd A
& e il wof uge sftar @

® Cricket / fopdpe
* Football / eald

° Hockey/E’Tﬂ"ﬂ
® Volleyball / TeltaTd

Correct Answer :-Hockey / 8!

30)
Question Stimulus :-

How is Alpha related to Beta if (1) Gamma told Theta that Phi is his father’s nephew. (2) Alpha is Gamma’s cousin but

not the brother of Phi. / ‘3[BT’ diel’ ﬁﬁma?ﬂ%(l) AmET A e B gara1 e w1’ I9S fdr &1
YIS 21 (2) “SITBT ATHT BT TR HTS 8 Afp WY &1 TS 181 81



® Sister /dgA

® Niece / Yoot

® Nephew / Wl

® Cousin / TER HTS
Correct Answer :-Sister / 951
31)
Question Stimulus :-

Pong Dam is a venture undertaken jointly by which of the following groups of States? / Ui iy TP 3T I =

e U wgea wu A Fafafea § @ o9 a1 s o1 ayg 82
* Andhra Pradesh, Madhya Pradesh and Orissa / 318/ USRT, U Wl 3R m
® Gujarat, Maharashtra and Rajasthan / J[oIRTd, HEIRTY 3T ISR
® Gujarat, Madhya Pradesh and Orissa / J[oIRTd, T 3R m
® Haryana, Punjab and Rajasthan / E'PRITU'IT, USIT 3T ITSTAT
Correct Answer :-Haryana, Punjab and Rajasthan / EﬁTITUT[, TSI 3R ITSTRITH

32)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faoe gﬁ'q,\_rﬁ a& Bl TP
A RRETWFFAFIUAR

If it is cold, then you wear a sweater / 3R 38 &, d1 317 WX Ugd 8
e Ifit is not cold, then you won’t wear a sweater / 3R 38 g &, d 3T W ) Ug—d 8

e If you are not wearing a sweater, then it is not cold / 3SR AT WX T UgAe &, A1 68

T3
e Ifitis cold, then you are not wearing a sweater/&I'lR'o‘_s%,?ﬁ Gﬂqﬁﬂﬂﬁmﬁ%
* None of the above / SWRIad ®Ig gl

Correct Answer :-If you are not wearing a sweater, then it is not cold / 3R 3MY Wex

T IETRE NssTE 8

33)



Question Stimulus :-

The Fundamental Rights have been incorporated in part of the Constitution / FIfeTe 3IfYdRY &

Ay F e o wnfera forar man @1
* VIII/ 3M&dt
o 11/ fEeda
o III/ eI
o 1v/agd
Correct Answer :-I1I / T
34)

Question Stimulus :-

Which of the States in India is referred to as ‘God’s own country’? / HIRd & Is4l # Y HIF WEHE & U
3 F = H AT AT &2

® Goa/Tal
® Kerala / H%d
® Tamil Nadu / aﬁm

® Uttar Pradesh / 33X} u%'\’r

Correct Answer :-Kerala / 3

35)
Question Stimulus :-

Kailash Satyarthi received the Nobel Prize for his work in which one of the following fields? / frafafea 83'3-1' H

¥ fru & o Farz ol 7 Nead ver e fFar
® Literature / ATecd
* Peace / Wifd
e Physics / Hifaat
® Economics / 3=

Correct Answer :-Peace / Tifd

36)



Question Stimulus :-

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. /3% fiT7 A,B,C,D,E 3R F &% &I 3R q&
PUgUIc T A IS FIE DS IR IR BIC,ASRBFTTARIF,ERAF ST H 31

Who is sitting second to the right of C? /C & <Ifgq 3R O W & P 937 82

Correct Answer :-F

37)

Question Stimulus :-

The civil disobedience movement was launched by / afeTa S CEII Gﬂﬁ?ﬂ?ﬁﬁ?m Wﬁv_m IgT 41
® Bala Gangadhar Tilak / 9T TeR fade

® Mahatma Gandhi / HelTHT ieh

® Jawaharlal Nehru /Wmﬁw

® Sardar Patel /Wlﬁ'ﬁ
Correct Answer :-Mahatma Gandhi / HgTeHT ¢l
38)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, '
share a common similarity while one is different. Choose the odd one out. / IBCR'E] ﬁ,

%mﬁ%w%&nﬂ%‘,ﬁﬂm,mwﬁiﬁm,wﬁmwamﬁ faww ara +t
I

e H



Correct Answer :-Q

39)
Question Stimulus :-
The national fruit of India is / HIRd BT Trgh Bd %

® Apple/ a9

® Mango / 3TH
® Banana/ ®dl

® Jackfruit / hcod

Correct Answer :-Mango / 3TH

40)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faser gt
it f3E e Sy ud frshuf & 9 § 9 2

Statements: / ®Y-:
All instruments are measuring devices / I IUSHI0T AT & A %
All tapes are instruments / W U Iusmur %
Conclusions: / fAswd:
I. All instruments are tapes / 1I. It IuHIor 2 %
II1. All tapes are measuring devices / 1II. W 29 AR & 7 %
® Only conclusion I follows / Fad fareed 1 Awedar %
® Only conclusion Il foIIows/aﬁﬁ e | T %
® Both conclusion | and Il foIIows/?ﬁ:ﬁ fred 1 8k 11 e %

® None of the conclusion I or Il follows / fepd T a1 1T & & aﬁ's‘ T3 frPpadar g
Correct Answer :-0Only conclusion Il follows / Pad forspd 11 fArdadr %

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-



The ratio of the length of a park to its width is 5:3.What is the length if the width is 42 meters? / 'aE'F-I | ?nmé q

SHP! ASIg BT 3FUN 5:3 7| Al A5 42 Ht B, O TE AT 72
® 70 meters/ 70 i
® 118 meters / 118
® 124 meters / 124 |
® 140 meters / 140 |
Correct Answer :-70 meters / 70 Ht
2)

Question Stimulus :-

When digits of a two digit number are reversed its value gets lowered by 9. If the sum of the two digits is 15, then one of the

digits in this number is / SId &1 3P B JWT P 3P| B! IhiAd fhaT SIaT 8, @ IHST HF 9 | U Jar gl afe
Y 3l PTUNT 15 §, Ol 5T W1 P 3ihI A A TP 3 @

Correct Answer :-7

3)
Question Stimulus :-

Complete the following sequence of figures/ 3T Idl & 9 HH B [T Piford:

o
AN

1

=]

a
AN

hl\;\\\‘*




-
AN

=
AN

Y
=

-
AN

Correct Answer :-

4)
Question Stimulus :-

A is thrice as good a workman as B and together, they finish a work in 18 days. In how many days will B alone finish

the same work? / A ®1 3U&T T T IR HTH A ATAT FRIR 8 3R T 1Y § H7 H1 18 G # 1 Hva
21 B 3 oW &) Fpa fbaq A o g1 e

e 72days / 72 faF

e 60 days / 60 a1

e 66 days / 66 fa1

e 70 days / 70 faF
Correct Answer :-72 days / 72 f&=
5)

Question Stimulus :-

A man is standing on a platform which is 180 m long. He finds that a train crosses the platform in 20 seconds but himself in 8
sec. What is the speed of the train?/ Tdh enaﬁwiagaww%, S 180 Iﬁw%l wﬁw%aqgaaﬁm
B T 20 Vb R IA IR HH T 8 AFHS At 31 T P Afa A @2

® 54 km/hr/ 54 fopHi et
® 45 km/hr/ 45 fopHi et

e 60 km /hr/ 60 fEHi/ger



e 66 km / hr/ 66 fHl/geT
Correct Answer :-54 km/hr/ 54 foeeit/geT
6)

Question Stimulus :-

Pramod scores an average of 60% in an examination consisting of 15 papers. He has
scored only 40% average in five of them. What is the average scored in the remaining

papers? / UHIC A 15 TURI aTal U Tien # TG 60% 3P YT fhd| 399 A 5 § I 3NTaH 40%
3P 8 Ut fPA| T1fh 2 YUl # I9PT 3NHd i T 82

® 70%

® 80%

® 100%

* 65%
Correct Answer :-70%
7)

Question Stimulus :-

Two dice are thrown simultaneously. What is the probability that the first die has 4? / ﬁqﬁw Wﬂﬁﬁq%'l ITS'@I
U R 4 HSAT 3T BT GUGHAT FT 7?2

° 1/3

°* 1/2

e 1/6

° 1/9
Correct Answer :-1/6
8)

Question Stimulus :-

In the foIIowing qyesti_on, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, T $R@@1 A TP U Ad 8| TAd US I BIoR|

90,66,45,28,15,6,1

® 45



° 28
® 90
® 6
Correct Answer :-28
9)
Question Stimulus :-

The word POPULAR is coded as POPURAL and BOARDED as AOBRDED. Using the
same code, write CURTAIN. / U Jibfd® UINT &T YINT HId §¢ e POPULAR H POPURAL
¥ ¥4 # Td BOARDED %! AOBRDED & U ¥ forar Tar 8| JHM Wabd &1 YINT $H3d §¢€ CURTAIN
ford]|

® CURTNIA
® RUCTAIN

e RUCTNIA
e RUCTNAI

Correct Answer :-RUCTNIA

10)

Question Stimulus :-

1
= 3

3
A lamp post has half of its length in mud, of its length in water & the remaining of m

above the water. Find the whole Iength of the post. / T® v U Bt e El'l?sng ﬁ@’f | %, ITP

1
31

T P D um T A R oA RS swd| G @ o e P

Lid | b=t

° 40
° 30
° 20
°* 10
Correct Answer :-20

11)



Question Stimulus :-

In a code, FIDELITY written as HOGINOWY. How is CALAMITY written in that code? / T H&d H, FIDELITY 1

HoGINowyY forad g1 St IPhd | caLamiTy Y B ferg?
* FENEPOWB

® FENOPOWY
« FANAPOWY

e FENEPOWY

Correct Answer :-FENEPOWY

12)
Question Stimulus :-

A and B walk around a circular field. They start at 7 am from the same point in opposite directions. A and B walk at a speed
of 4 rounds per hour and 6 rounds per hour respectively. How many time shall they cross each other at 8 am?/ A Gﬁ? BU®

JOIPR A & TaHR A 7. d Jag 7 To T g1 fig I fausia fa=maii & oo+ % #=d &1 A i B HUR: 4
TFH Ul 1 3R 6 TawHR Ui v 31 a7 A Tard &1 Y8 8 T fbait IR I Th g B IR H9I?

* 3

e 12

e 10

e 15
Correct Answer :-10
13)

Question Stimulus :-

The series given below contains a sequence of qlpha.bets,'numbers and symbols. Identify
the incorrect combination: / 12 & ¥ S@aT 3R} T TWATHT BT SHH WA Bl 8| Tad Hae
UgdId|

(i) A$YSD302N-iR
(ii) A$YS8D302N-iR
(iii) A$YS8D302N-iR

(iv) A$YS8D302N-iR



® jv
Correct Answer :-iii
14)

Question Stimulus :-

(801/9+1)/[30x(3/5)]+2-(435/3)+(100/4)=?

. -162
. -140
. -113
® -115

Correct Answer :--113

15)
Question Stimulus :-
Complete the series choosing the missing number: / ﬁﬂ'lﬂ ST PR @l Cg| T P :

4,6,12,14,28,30,

° 32

® 60

° 62

* 64
Correct Answer :-60
16)

Question Stimulus :-

What is the average of first 12 multiples of 15? / 15 * 113?[ 12 aggtrﬁm eﬁwram%?



e 97.5
°® 97
® 96
® 96.5
Correct Answer :-97.5

17)
Question Stimulus :-

Out of 200 students in a school, 140 play cricket, 80 play tennis aljd 20 nei!:hgr play cricket
nor tennis. The percentage of students who play both is/ fa@maa # 200 =1 # |, 140 fsde
Qod §, 80 ¢ Werd § 3R 20 A1 dt fbdre Qad § 1 €1 1 S e W arat Bl #t ufawradr 8

® 5%

* 15%

°* 10%

°* 20%
Correct Answer :-10%
18)

Question Stimulus :-

If 35796 is coded as 44887, how will 46823 be coded as? / dfé¢ 35796 &I 44887 A Hifsd
forar ST 8, @ 46823 @1 A IS fhar S

e 54914
e 57914
e 55914
e 55934
Correct Answer :-55914

19)
Question Stimulus :-

How many squares are there in the figure below? / IEE] GI'I?‘ET ¥ faq ot %?



Correct Answer :-3

20)
Question Stimulus :-

The price of a product is increased by 30% and its sales reduced by 25%. What was the effect on the total revenue/
IATE B BT A 30% gfeg B oTet 3 3R ITP fawh 25% FH B S w1el} 31 IHA 8 aTelt o 3T W
T YHTd UST?

® Increased by 2.5%/ 2.5%3’9&

e Decreased by 5%/ 5% 9l

® Decreased by 2.5%/ 2.5% udl

® Increases by 5%/ 5% TSI?.&
Correct Answer :-Decreased by 2.5%/ 2.5% Hcl
21)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ"ﬂ SHER AN 4G B T H'ﬁﬁrlﬁ :

_cdc_bdb_b_dc_b

® dccdb



® bdcdc
® hdddc
® bdccd
Correct Answer :-bdccd

22)

Question Stimulus :-

A shopkeeper gives 2 successive discounts of 15% & 10% on the marked price of an article, if the actual
selling price is Rs. 15300 then calculate the list price? / T% gHTHER U® avd & RIFZd e ¥ 15% 3N 10%
P 2 TR e a1 81 TS 39 avg o1 fIehl Ioa 15300 T § <l IS I Ted &7 Ual H|

® Rs. 40,000 /34U 40,000
® Rs. 30,000 /34U 30,000
® Rs. 20,000 /3%4Y 20,000
® Rs.10,000/3¥YY¢ 10,000

Correct Answer :-Rs. 20,000 / 34T 20,000

23)
Question Stimulus :-

If ABCDEF is coded as ZYXWVU then what will be the code for APPLE? / Tf¢ ABCDEF @I zyxwvu & Difed faar Sam §,

dt AppLE & ford &7 SIS BRIT?
 BQQMF
e OVVKZ
o ZKKOV
o KZZVO

Correct Answer :-ZKKOV

24)

Question Stimulus :-

A shopkeeper blends two varieties of tea costing Rs.18 & 13 per kg in ratio of 6:4.He sells the blended
variety for Rs. 20per kg. What is profit in the transaction? / Th Wﬁﬁaﬂmmﬁw 63R4F
3FUTd ® Fa1 ¢ orad arTd geu 18 $UT 3R 13 $UC ufd fFal 31 98 20 Tud ufd fva | fifda fewr Sear g1
T IR § ATH |1 8?7



® 20%

® 25Y%

* 30%

® 35%
Correct Answer :-25%
25)

Question Stimulus :-

In how many ways can we select 4 digits from the set of digits 4,3,2,6 and 9? / fraa el A gH 3(® 4,3,2,6 3R 9
& AT A 4 3BI BT TYT BT B 32

Correct Answer :-5

26)
Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / fauy &

ferg i fawe €| @t arem gig|

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘'Tom Kun Sud’ W'ﬂ?ﬁl‘q’% ‘Dogs are barking’
ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ $T AdAS 8 ‘Dogs and Horses’

ifi. '"Mut Tom Ko’ means ‘Donkeys are mad’ / *‘Mut Tom Ko’ mw% ‘Donkeys are mad’

Which of the following encryption is used for ‘Dogs’? / fgddsa
UfRPURH ‘Dogs’ & forw wanT gam 82

® Tom



® Kun

® Sud

®* Ko
Correct Answer :-Kun
27)

Question Stimulus :-

X, 5 and 7,1 are in proportion. What is the value of x? / x, 5 MR 7,1 Wlﬂ'qmﬁ%'l X T {HH
71 8?

® 35
® 45
®* 30
* 40

Correct Answer :-35

28)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% 33 T IR vl & A 1 Y T uad & S I9H H19 T T T8I 22

Perry, Ann & Gowins, Karen
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

(i) Perry, Ann & Gowins, Karen
Birmingham Canoe Club
P.O. Box 951

Birmingham, Alabama 35201



(205) 934-7972

(ii) Perry, Ann & Gowins, Karan
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

(iii) Perry, Ann & Gowins, Karen
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

(iv) Perry, Ann & Gowins, Karen
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

® iii

® iv
Correct Answer :-ii
29)
Question Stimulus :-

Complete the series choosing the missing letter/s: / fA@W &R TAHY 4TAT BT [T BIOIT :

a_aa_cbb_ab _ _cc_bc



® abbcca

® aabbcc

® bbccaa

® ccaabb
Correct Answer :-abbcca
30)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWAT FAHR 9TAT BT TR B :

4,7,11,18,29,47, _  ,123,199
® 85
® 76
* 69
° 81
Correct Answer :-76

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Identify the CORRECT statement / ﬁ—&ﬁ HYF Bl 'q?'il'l'lel'Er

® |tis possible to predict the time and place of the occurrence of earthquakes / ‘lﬁq & gfed ﬁﬁ P WM 3R

THY o1 YaigaTd §4Yd 8

® Most earthquakes are caused by underground nuclear explosion / &R Yhy ?;[&ITI?I' Arfystg fawpte
& HRUT IUF 81d &

® Richter scale is not a linear scale/ﬁm THTET ¥ QHTET T-Iﬁ %
® Richter scale was developed in the year 2005 /ﬁTE? YHTET 99 2005 H fawfd BT T

Correct Answer :-Richter scale is not a linear scale / e THTET Ercip THTET qﬁ %

2)

Question Stimulus :-



Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / g arfereT wem 7 9 wan
10 I% Ui BT gRT YT 3 fR@ndt 31 SUasy H15 T3 AHGRI HT SUANT $R 49 Faral & wamT €|

Class Vil / Class VIl / | Class XI/ | Class X/
Student / ST FeT 7 8T 8 FeT11 | FET10
Mahesh / #ger 65.5 70.8 68.2 75.4
Thomas / AT#HHT 60 4 68.3 722 704
Anand / AT=g 70.8 65.7 69.4 73.5
Sunil / g=rer 80.1 74.6 79.4 86.5
Preety / difa 78.4 75.5 80.0 77.7

Which student got the lowest marks amongst all the five students in at least two of the classes? / fFosT Bl FU A HH

A pam A Tt vig oE § 99 9 3 e 82
° Mahesh/'FI%'QT

e Thomas /7 4m¥
o Anand/GI'FiE
° Sunil/'ﬁ:ﬁ?{

Correct Answer :-Thomas / 484

3)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / A arfereT wem 7 A wan
10 9% UiT BT gRT UK 3% REwd 81 U F15 15 THHR T STINT B 7 Farel & oare 3|



Class Vil / Class VIll / | Class XI/ | Class X/
Student / ST FET 7 FET 8 FET11 | FET10
Mahesh / #ger 65.5 70.8 68.2 75.4
Thomas / 21T#H 60 4 68.3 722 70.4
Anand / AT=E 70.8 65.7 69.4 73.5
Sunil / g=irer 801 74 6 79.4 86.5
Preety / i 78.4 75.5 80.0 TEF

Which student got the lowest average marks in all the classes? /m BlEKak: L 3‘7&ﬂ3ﬁ # 9 $H ud i faa

8?
® Mahesh / TR
e Thomas / ¥\¥
* sunil / FTd
® Ppreety / Wifd

Correct Answer :-Thomas / 484

4)
Question Stimulus :-

Carbohydrates, proteins, fats, vitamins and minerals are major components of
food and these are called as / TR & 4B UcH HElgIsSe, W, 99T, faefie aur @ = &
3R A HgA &

® Dependent food. /ﬁf“-h dre]

® Food mostly prepared by plants. / 3ftrpar wray aRT foava @
® The nutrients. /tﬁW dod

® The raw food materials. /ﬁ el 'an?f

Correct Answer :-The nutrients. / 9IU® dd

5)



Question Stimulus :-

The tiny openings in the leaves that allow them to breath is called / gl W) Bie fog ot 3% g a1

@t orgufa 34 § T HEATd &7
® Lenticels / AérAd
® Stomata /Y
e Chloroplasts / TR

® Guard cells / Y&P By

Correct Answer :-Stomata / 38

6)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / o arfereT wem 7 9 wan
10 T Ui DHEI gRT UTW 3/ feardl 81 SUaey BIS TS JAFPRI $T SUART R A9 Jarel & sard < |

Class Vil / Class VIl / | Class XI/ | Class X/
Student / ST FET 7 F8T 8 FeT11 | FET10
Mahesh / #ger 65.5 70.8 68.2 75.4
Thomas / T#FT 60 4 63.3 72.2 704
Anand / AT=g 70.8 65.7 69.4 73.5
Sunil / F=rer 80.1 74.6 79.4 86.5
Preety / difq 78.4 75.5 80.0 77.7

Which student got the highest average marks in all the classes? / fg o= & @it a?&rreﬁ H I=a¥ N9 3

g2
® Mahesh /'FI%'QT
® Thomas/ eer:|

® Anand / 3H¢
® Sunil /gTd



Correct Answer :-Sunil / g1d

7)
Question Stimulus :-
x*-a*=

* (x—a)*(*+d?
* (x—a)(x+a) (x*+a?
° (¥+d?) (x*+d?)
* (x-a)(3+ad)

Correct Answer :-(x-a) (x + a) (x* + a?)

8)
Question Stimulus :-

An amount of Rs. 2,430 is divided among A, B and C such that if their shares be reduced by Rs. 5, Rs. 10 and Rs. 15,
respectively, the remainders shall be in the ratio 3:4:5. The share of Bis: / 2,430 & @t AR A,BTdC | T UPR
faufora &1 it i afe 39% i # A HUM: 5 F, 10 ¥ TF 15 & UM W¢, 99 ¥ BT U 3:4:5
SNTTI B &1 30 &:

® Rs.790

® Rs. 800

® Rs. 608

® Rs. 810
Correct Answer :-Rs. 810
9)

Question Stimulus :-

If 5-25 * 2550 x 125 = 5X then x is / Tfg 5725 * 2550 x 125 = 5X qf x
gl
® 78
® 75



° 72
Correct Answer :-78
10)

Question Stimulus :-

The precaution to be taken while using a clinical thermometer / T ﬁﬁﬁ-ﬁi YR BT TN HId qHg foran
WM qraT ggfaard @ ¢

® It should be washed before and after use / S UIRT & Ugd U4 dI¢ AT A1feT

e Ensure that the mercury level is below 35°C before use. / Iffia &3
& 7T $31 A U URT &R 35°C AR 2

® Reading should be done at eye level / U3 3@ & ¥R W fHar &1 T
® All of the above / SURIad Tt

Correct Answer :-All of the above / SUaT Tt

11)
Question Stimulus :-

Which type of soil is best suited for Lotus plants? / PH & el & forw P Hal qqd w1l SUYdd 22

 Loamy soil / grdtgar
e Clayey soil / wuag Har
® Normal soil / HTHTI H&I
e Silt / TG
Correct Answer :-Clayey soil / JuHg ga1

12)
Question Stimulus :-

The C.P of an article is 40% of the S.P. The percent that the S.P is of C.P is: / U® d¥] &I
P-4 (C.P.) fasra g (S.P.) &1 40% &1 9t ufa=rd =it fasha geu, HU-Jeu &1 8-

® 240
® 40

® 250



® 60
Correct Answer :-250
13)

Question Stimulus :-

Fossil Fuels are / STaTRA 3¢ 3Id &
e Renewable & inexhaustible / Tdi®Rul 3R 3rem
* Non-Renewable & inexhaustible / 3FdHRUTY 3R e
* Renewable & exhaustible / Tdi®RulT 3R &/
* Non Renewable & exhaustible / 3FAIHIUNT 3R &

Correct Answer :-Non Renewable & exhaustible / 3FAIHRUNY 3R &/

14)
Question Stimulus :-

The pH of acid rain is / 3 aui &1 pH 3
. 4
.« 7
e 9
* 2
Correct Answer :-4

15)
Question Stimulus :-

If the radius of a circle is 5 cm, the diameter is ./ ﬂﬁ' U qd @1 fsar 5 I % a DT A
gl

2.5 cm / 2.5 9H

5cm/5'\ﬁ'l=ﬁ

10 cm / 10 3#

7.5 cm / 7.5 94#



Correct Answer :-10 cm / 10 4#}

16)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / g arfereT wem 7 9 wan
10 T Uig B gRT U 3 fGandt 31 I H15 T3 AFHRI BT SUANT H 7 Jaral & waw &

Class Vil / Class VIll / | Class XI/ | Class X/
Student / &I e 7 FeT 8 FET11 | H&T10
Mahesh / #&er 65.5 70.8 68.2 75.4
Thomas / 2i#d 60.4 68.3 72.2 70.4
Anand / 37Tig 70.8 65.7 69.4 73.5
Sunil / gerer 80.1 746 79.4 86.5
Preety / difr 78.4 75.5 80.0 77.7

Which student showed consistent improvement in the marks in the all the classes? / g o A It 3‘7&'|T3ﬁ ¥ 3l o
TR GUR famar 22

® Mahesh /'FI%'QT
® Thomas/ YT
* sunil/gAId

® None of them /Eﬁﬁiﬁgqﬁ
Correct Answer :-None of them / 3990 q $Ig g1

17)
Question Stimulus :-

Echoes in sound waves are due to / a4 @ § ufaafy s9d 4 59 FRUI 4 gl 82
e Refraction of waves / w@ffdl & sudaa
e Reflection / wmEda



e Diffraction / fagda
e Interference / =fa®:u

Correct Answer :-Reflection / WREda

18)
Question Stimulus :-

The maximum length of a pencil that can be kept in a rectangular box of dimension8cm *6 cm * 2 cm is .
/ T UFaa ot ftrpan awars ot 8 Adi*e Tt 2 At oy & SraTeR s | &t o 9%

° Nﬁcm/z“’lﬁﬁ'ﬂﬂ
mcm/mﬁtﬁ

1042 1042
. cm / I+t

2“"Iﬁcm / Em@'ﬁﬂ

Correct Answer :- 2Jﬁcm / Emﬁtﬁ

19)
Question Stimulus :-

Rubbing our palms together is an example of / R gAferal &1 RATSHT 3qlexul %
® Rolling friction /QWT-[ UYUT BT
® Sliding friction /H‘ﬁ YT HT
® Static friction / Rfd® adur &1
® Fluid friction /';Zd’l’q gyur &1
Correct Answer :-Sliding friction / Juf Tfor &7
20)

Question Stimulus :-

What is the 4R principle to be followed to make the environment plastic free ? / Taiar vl H Wifed Had CEIE]
& forg e 4r RrgT= &1 urer fpar re?

® Rethink, Retake, Refuse, Redo. / ﬂﬁﬁi '\ﬁ%ﬁi ﬁuqr;r, ﬂ?ﬁ



® Reduce, Reuse, Recycle, Recover. /ﬁw, ﬁ'{\q, 'ﬂw—{%, fpaR

® Remake, Recycle, Repair, Remove. / W, ﬁﬂﬁﬁﬂ, ﬁ'a'cﬂ', ﬁ'&_cf

®* Remould, Renew, Reinvent, Reuse. / ﬂtﬁc_b', ﬁ?], ﬁﬁi’, '\&CET
Correct Answer :-Reduce, Reuse, Recycle, Recover. /ﬁ_éﬂ:\q, m, ﬂm, PR
21)

Question Stimulus :-

Amarbel deprives the host of valuable nutrients. Hence it is called / SMATIA AFETT B PHA Tl § dfa
R A1 3| TARA T8 FeaATaT 8

° Autotrophlm

® Parasite / ol

® Saprotroph / H_cl'lﬂ'ﬂ

* Host/AWET
Correct Answer :-Parasite / W6ild
22)

Question Stimulus :-

The perimeter of an equilateral triangle ABC with AB = BC = AC = 5 cm |s given
by . / GHaTg A% ABC /9 AB = BC = AC = 5 I} 81 3T&1

25cm/25@1ﬂ

15 cm / 15 9

10 cm / 10 9#

20 cm /20 9

Correct Answer :-15 cm / 15 91

23)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / % aIfti®T ®am 7 | Heam
10 % Ui DHE §RT UTW 3/ @l 81 SUae B1S TS PRI $T SUART R A9 Jarel & sard |



Class Vil / Class VIll / | Class XI/ | Class X/
Student / ST FET 7 FET 8 FET11 | FET10
Mahesh / #ger 65.5 70.8 68.2 75.4
Thomas / 21T#H 60 4 68.3 722 70.4
Anand / AT=E 70.8 65.7 69.4 73.5
Sunil / g=irer 801 74 6 79.4 86.5
Preety / i 78.4 75.5 80.0 TEF

What were the average marks of Preety in all the classes? /Tt wemen # ifa & 3N 3P w7 A?
® 77.9
® 77.3
® 76.7
® 76.1

Correct Answer :-77.9

24)
Question Stimulus :-

The sum of 4/3 +3/5 +-2/3 + -11/5 is equal to / 4/3+3/5+-2/3+-11/5 BT 1)

IR gl

—14
e 15

14

e 15

—14

e — 15

14

e —15



—14

Correct Answer :- 15

25)
Question Stimulus :-

The distance between Bangalore and Mysore is 150 kms. A bus takes 3 hrs to
cover the distance. The average speed of the bus is / @R & RR ¥ & o1 g&f 150
fPotfo B TP 99 &1 98 g8 T H1 § 3 4 A §| 99 Bl S A §

* 50km/h /50 fsoHlo EeT
* 15km/h / 15 fotflo deT
* 50m/s / 50 fFotilo der
® 45km/h / 45 fasotlo T
Correct Answer :-50km/h / 50 fdotfto/ger

26)

Question Stimulus :-

J3tan 60° —tan 30°) _

« 248

2f-3

° 2
.

Correct Answer :-2

27)
Question Stimulus :-

A girl weighing250 N standing on an area of 25¢cm?2. The pressure produced is / Th ﬁ?ﬁﬁ forg®T aw 250 N %

TP 25 IO 87 R @St 1 SAfed g @
® 1000 Nm?

® 25000Nm?>



® 65000Nm?
® 100000Nm>
Correct Answer :-100000Nm?

28)

Question Stimulus :-

Excessive use of chemical fertilizers makes the soillm RLIR GG Bﬂ?ﬂ? BT YA Hal CAKEIG| % -
® Basic/ &I'I'\ﬂ'q
® Neutral / BE'I'\‘-ﬁT-[
® Helps in the growth of the plants / qIeul $1 IAFA # HTaaT Sl %
* Acidic / 3=
Correct Answer :-Acidic / 34

29)
Question Stimulus :-

The process that helps in the water cycle is / 98 Uf%dr st 51d g% H Ggradr Hdl &
e Regeneration / gAS+
e Transpiration / ars I
e Translocation / ®@id?
e Respiration / 494
Correct Answer :-Transpiration / arsdicds=
30)

Question Stimulus :-

E and F are points on the sides of PQ and PR respectively of a APQR. If EF || QR, PE = 4
cm, QE = 4.5 cm and PF = 8 cm. Find RF. / APQR &} y=isff PQ 3iR PR WX %HXI: E T F fdig @
g1 3fe EF || QR, PE = 4 9¥l. QE = 4.5 JH. 3R PF = 8 ¥ 8 a1 RF I HA|

® 45cm / 459

° 4cm/4'\ﬁ1=ﬁ



° 9cm/9ﬁ1ﬂ
° 8cm/8@1ﬂ

Correct Answer :-9cm /9 JHt



